VERTICLOSE-

2

LOCINOX

Let’s make it better together

p
@ Package content

.

Quick-Fix Expander

© |Verticlose-2 @ | Quick-Fix Splitter

O 90°Am @ DIN912-M8x80

a 180° Arm Accessories @ DIN 7504 -@ 6,3x70

© | Verticlose-2 Cover ©® DIN7984-M8x16

© | 90° Rail Cap Cover @ |DIN 912-M4x20

O |Bottom Cap ©® |DIN 7991 -M6x25

@ Top Cap ©Q 1507049-33,9x19 mm
O Am Cap @ Allen keys Hex 3, 4, 5, 6 mm
o 0o

Drilling Templates

J

@ Mounting situation

S —

@ Add Dirilling template

o |
X
MAX. ‘X’ 70 mm
MAX. ‘X’ 2-3/4"
MIN. 30 mm MIN. 30 mm
MIN. 1-1/4" MIN. 1-1/4"
[
L oe = === ‘
E ° lSmT ?lISmm ZISmm
3 = /16, 29/16" 29/16"
Lol % I 15 mm
N9/16"
OO
320 mm
@15 mm 12-5/8"
@9/16"
£
El:=
O -
]
o~
@5 mm
@3/16"
MIN. 60 mm
MIN. 2-6/16"
MAX. 200 mm
MAX.7-7/8"
@ Install gate closer
<
//

@ Mounting situation

I —

@ Add Dirilling template

(Il

d X
Al MAX. ‘X’ 80 mm
lm!|‘|‘| Fumim MAX. X’ 3-1/8%
MIN. 30 mm MIN. 30 mm
MIN. 1-1/4" MIN. 1-1/4"
£
MAX. 130 mm 20mm =
MAX. 5-1/8" 13/16" 1 N
|
90/ Elx
215 mm £ }
n |7
@9/16" | oo
r Rehy \
15 mm ‘
9/16" lSrv:m 215 mm
9/16" 29/16"
£
E|=
O |
]
o~
MIN. 60 mm
MIN. 2-6/16"
25 mm
@3/16"

@ Install gate closer

!\/'

@ Mounting situation

@ Add Dirilling template

MAX.

70 mm

100 mm
3-15/16"

MAX.

2-3/4"

*I

Nz

X

A\

A

e ond

b

J

@ Install gate closer

X =Y - (MAX. 20mm)
X=Y - (MAX. 13/16")

J

2018-06-04 - rev 1



-

o

CD

@ Left or right mounting

LEFT

RIGHT

HEX

@ Installing Arm

A: Remove tension

< Tt
=0
e®

B: Place cap C: Position

Ve

Remove

pre-tension
fixer

@9

HEX
3mm
5mm
. AN AN J
N | A — 90° —180°<,
Finish A: Add top caps B: Fix bottom cap
installation and covers
f'hu/% @ Add rail cap covers @ Add rail cap covers
» N
i l— i\
o=
& /f“\_\ T = .
. ‘| (= Z
l% 2 ors (‘)
s ‘,/ g ﬁ
3 = N
O Al &
3mm ﬁﬁ \\T%j L
. N\ AN J

(LOCINOX)®

WWW.LOCINOX.COM

Doc. Nr.: MANU-000376

Locinox nv

Mannebeekstraat 21
Tel. +32 (0)56 77 27 66 + Fax. +32 (0)56 77 69 26 + E

com “MANU-00037 6

-mail: info@locinox.

€S

2018-06-04 - rev 1



